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(A) GPS (B) GPRS .(C) RFID (D) 4G
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(A) SEO . (B) ERP (C) SSID (D) OLAP

. RBLRBAREERBAA RIS EERLZ R RAEE A  Amazon AWS(Anazon
Web Services)# F Z{TFEARAAE KX, ?

(A) 882 Br IR 7% Software as a service (SaaS)

(B)F & BPERF Platform as a service (PaaS)

COOR BRI Infrastructure as a service (laaS) (DA L% =R

. BHAMENTOELES S REEHAHEMM T et $ | (statistics) > H—5
e ET i 4 T EH4EH | (data mining) > 444 (data warehouse ) K&
EARR M ~ 3T - 54 R FH - 4 BigData BH A ¥ - google A B
# T » GFS (Google File System) #i Bigtable > ##% 7 Big Data /&
ARures R -

~ (A) OLAP(On Line Analytical Processing) (B) MapReduce

(C) OLTP(On Line Transaction Processing) (D) Data Warehouse
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7. @B VR EREERSE » & 44 Linux - PHP #= Apache Web AR B4ER -
B E A LAMP o sb B BRI B Ards BT ?
(A) Sybase (B) MS SQL-Server (C) DB2 (D) MySQL

8. HAG BT FEEEREBEEATRSHHESN - EA TIMTHES L
WhE ?
(A) SET (B) SMTP (C) EDI (D) WAP

9, FHMTHERBETHESEBOMLAFEAER RGN ?
(A) A% (B) # E 2 a¥ (C) A s D) % &

10. #3k ey 4@yl URL 24 https://B4e 3455 B M55 B AT4E 2% ?
(A) SET (B) SSL (C) VAP (D) WEP '

11. BHAETFHHEEH X044 FTHMLEE?
Amazon @%EEEN__ (D s BRMEEEES (D
(A) C2C: B2C (B) B2C : C2C (C) B2C: B2C (D) C2C: C2C
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(revenue model) ?

W) BHEuHEEKX B) iR (O FHRERESEX D) kil

13. FoHeEBERBEALGRETFAREAAT () gAF (2) &#F (3) iCash
W1:2@2:3C1:3M1-2-3

14, THRARE | ZTRAMER L EHIRG > @B S 0PR - FAERAOENAT
7 fay A 4 i 2
WER 2% BgarEys (RFID) 24 (ORI &3+ (D)F} iCash

15, =B5BBEM EwEE (Anazon Elastic Compute Cloud - Amazon EC2) » 4k A &
TREAEREHNEFLA LK - EAFTRAREERAS LEFETATARH
BB S ERAER - Anazon E3bEBALEMN A ?
(A)Windows Server Hyper (B) Vmware (C) Oracle VirtualBox (D) Xen
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16, A—4MFltH 3l £58 > MABFEERARARETH OB AREEE
RMBERBEBT? S
(&) 1,31 (B) 16,31 (C) 16,16 (D) 31,31

17. BAT T EEEE  HEFZAM?
1000 And 1000 Or 1000 Xor 1010 .Xor 1010
4) 0 (B) 1 (C) 1000 (b)Y 1010

18, AAHEE P - F oMy LY
(A) NOT (B AND B) = 0 -(B) NOT (A OR B) = (NOT A) OR (NOT B)
(C) NOT (A OR &) =1 (D) NOT (A OR B) = (NOT A) AND (NOT B)

19. F 54 kR TG B 4T 2
| F(X,Y,Z2)=XYZ+XVZ2+YZ
(A) XZ+XY (B)XZ+XY (C)YZ+YZ (D)Z

20. £EHEERL(mormalization) &4k ¥ o Fillay3aie BAT4EERAL 7
WDE—EHL BF=—r#HL COF=rEHAL OD)FEwERL -
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A = 10301 |Ex
T = 10302 iz
sm 10302 [ i ki
$2 53 et % g 10302 |kt
=5 [10303 fitmn =z [10303 st
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91, —2AZ#A 0 (x) =x Mod 13 8] H (28) SLFl4T4 4 mtds ?
(M) 1 (14) (B) H (15) (C) H(18) (O H (1T

22. BATTFFIE#RSESL - X GAMEG)ER BT
(W5 (B 10 ()20 (D) 36

Function GAME(ByVal X As Integer) As Integer
. If (X > 2) Then
GAME = X + GAME(X - 1) + GAME(X - 2)
Else '
GAME = 1
End
End Function

23. AT T FlEIRAHE - £ AGQ, DERBMTY
(W9 B 11 © 17 (D) 26

For i = 0 To 3
For j =0 To 3
If i > 1 And j >= 1 Then
AGL, D=G*jpH+i+j+AG-1, j-D
Else
AGG, D =G *xD+1i+]
End .
Next
Next
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24. $AT TR ERESL - LA, DBEREBM?
(A9 @B 24 (©O6 D)o

For i =0 To 3
For j=07To 3
If (i Mod 2) = 0 Then
AL, ) =1% ]
Else
ACL, D=1+ ]
End If
Next
Next
For i =1 To 3
For j=1To 3
CAGL D =AG - DAAG T-D
Next
Next
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void F(Int n)

{

Int 1;
F[0] = 0;
F[1] = 1;

for (i = 2 to n)

{

F[i] = F[1 - 1] + F[i - 2]:
}
print_F{n];

} _ , HHHERE
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26. What is the most secure wireless encryption standard for 802.11 networks?

27.

28.

29.

30.

31.

32.

(A) WEP128 . (B) WEPS64 (C) WPA - (D) WPA2

Which of the following protocols would best grant the user secure access to a remote
location? _
(A) VPN (B) Proxy (C) Telnet (D) FTP

A network device that sends packets to all connections devices is a .
(A} Hub - (B) Switch (C) Router (D) Access Point

Which of the following command can be used to display the default gateway, IP
address, media access control (MAC) address and DNS servers?
(A) nslookup (B) tracert (C) ping (D) ipconfig /all |

Assume you have an networks address of 192.168.0.0 and its netmask is
255.255.255.128. How many addresses(hosts) can we assign on this subnet?
(A) 512 " (B) 256 (C) 126 (D) 254

Which of the following is a not a possible subnet mask?
(A) 255.255.255.0 (B) 255.255.251.0
(C) 255.255.252.0 (D} 255.255.240.0

Which of the following address is an example of a broadcast address on the network
192.168.112.8 with a subnet mask of 255.255.255.1287

(A) 192.168.112.255 (B) 192.168.112.127

(C) 192.168.112.63 (D) 192.168.112.31
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33. Which of the following are correct that the time complexity of the bubble sort
and merge sort algorithm in the average case respectively?
(A) O(nlogn), O(n?) (B) O{nlogn), O(nlogn)
(C) O(n?), O(n?) (D) O(n*), O(nlogn)

34. Suppose a binary tree starts from level 1. Draw the binary search tree that would
result from inserting the following keys in the given order: 2, 1, 3, 4, 5, 6. Whai is the
height of this tree?

(a)ys (B) 4 ©@s (D) 6

35. Please show the cost of the minimum-cost spanni.ngtree of the following graph.
(A) 6~ (B) 7 (C) 8 D)9

36. How many spanning trees does the following graph have?

(A)3 (B} 4 (©) s (D) 6

O—GC D—®
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37. How many vertices are there in a tree if the tree has n edges?

38

39.

40.

(A) n (B)n—-1 (C) n? (Dyn+1

The average case time complexity of searching an element from a set of n elements
using binary search algorithm is

(A) O(n) (B) O(?) " (C) Ofnlogn) (D) Ologn)

The following code F'(n). Which of the following statement is true?.
long F(long n) {

IF (n =1) OR (n =2) Return n; .

ELSE Return 2 x Fi(n — 1)+ F(n—2) }

(A) F(5) =& (B) F(5) =8
(C) F(5) =17 (D) F(5) = 29
Let (60}s + (3D)16 = (X )10, the value of X is .7

(A) 99 (B) 100 (C) 109 (D) 139




